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Given a frequency distribution that has positive skewness (skewed to the right), which of the following
statements is correct?

a. The mode will exceed the median

b. The mean will exceed the mode

¢. The median will exceed the mean

d. The distribution will have mode large values than small values

Two balls are drawn from an urn containing 5 balls numbered from 1 to 5. The first ball is kept if it is
numbered 1, and returned to the urn otherwise. What is the probability that the second ball drawn is
number 2?

a. 0.18

b. 0.21
c. 024
d. 0.27

Of the following the most accurate statement concerning “sample error” (chance error) is

a. This type of error cannot be tozrally prevented even when one is using the optimum sample design
b. This type of error can be controlled by being accurate in calculations

c. This type of error can be controlled by being accurate in measurements

d. This type of error is the result of poor sample design

Which of the following is correct regarding p-values?

a. A p-value is the probability of the observed value of the test statistic or some value even more
contradictory to the null hypothesis, when in fact HO is ture.

b. A p-value is obtained from the probability distribution that correctly describes the sampling
distribution of the test statistic when HO is true.

c. A p-value allows a decision maker to select different alpha levels without having to obtain new critical
values for the hypothesis test

d. All of the above

An economic study reports that the mean and standard deviation of the distribution of number of days
out of work last year for persons unemployed at the beginning of the year are 21 and 6 days, respectively.
We know from the Chebyshev inequality that the proportion of unemployed persons out of work less than
9 days or more than 33 days:
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a. Isatleast0.75

b. Is at most 0.75
c. Isatleast 0.25
d. Isatmost0.25

As the number of degrees of freedom for a t-distribution increases, the difference between the t-
distribution and the standard normal distribution:

a. Become Larger

b. Become Smaller

c. Stays the Same (

d. None of These Alternatives Is Correct

The probability of the sum of two positive numbers being less than or equal to 8 and the product being
greater than 15 is:

a. 03376
b. 0.2126
c. 0.0201
d. 0.0106

The average daily catch of tuna b§'f the Hokkaido Tuna Company is 130 metric tons, and the variability in
its daily catch can be assessed by calculating its standard deviation. Assuming the standard deviation of
the daily catch is X metric tons, what is the probability that the company's catch exceeds 4320 metric tons

over the past 36 days?
a. 0%

b. 100%

c. 59.48%

d. 92.36%

A wholesaler buys cartons of 25 articles according to the following rules:

(1) Five articles are drawn at random from a carton and inspected.

(i)  If none of the five is defective, he accepts the entire carton.

(iii)  If one or more are defective, he rejects the carton.

By this rule he wishes to accept good quality and reject bad. Calculate the probability of accepting a
carton when the probability of any artical being defective is 0.1.

a. 0.774 '

b. 0.590

c. 0.168
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d. 0.031

10. A continuous random variable X has the following probability density function:
1 .
— if 05x<k
f(x)=127e 4
0 otherwise
The value of £ is:
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1 (5% f(X)z%, <X <LEBEERX 2 pdf, & T=X°, 3RV pdf.

2. (10%):EE8: P(lX|>C)< ((I;XD , C>0.

3. (15%)F N+l AHEEE  EARE LB RE0,12,,N « BT AEEE AR > S5
PR 5 (E4ARE - BRI Bk 37, 16,44, 43,22 -
1) SALLEHEE(Method of moments estimation) 3K N o
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